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	Question
“The importance of the First World War as a turning point in the development of Russia has been vastly exaggerated”
Discuss this view of Russian history in the years 1855 - 1964


	Key Words and Phrases in the question
The first World War – named factor to compare
Turning Point – fundamental change

Vastly exaggerated – over-stated 

Trap – vastly exaggerated – do I agree with a negative



	Key issues to be discussed
The importance of the First World War in the 
Economic

Social

Political

Development needs to be compared to the other six wars in the period


	Point
	Ideas and line of argument. 
	Content

	Introduction
	· Trotsky’s view
· The historical debate Optimism V Pessimism 

· Issues to consider.
	· In a 1922 report on the Communist International, Trotsky described war as “a locomotive of history” implying that history was moulded by war. In the context of the First World War this ties to the Optimist argument that Russia in 1914 was “steadily progressing towards peaceful evolution before war dealt a staggering blow” (M Karpovich). Not all historians agree. E Acton is typical of the Pessimist argument when he stated that “a revolutionary upheaval likely to be fatal to tsarism and liberalism alike cannot now be seen as the fortuitous product of war”.
· To decide which view is better supported the social, economic and political impact of the First World on the development of Russia needs to be compared to the six other major wars in the 1855 – 1964 period.


	1.

12 mins

	Social impact
· Arguments that the 1WW led to more social change than other wars.
· Comparison with the social change caused by other wars.
· Judgement  - has the social importance of the First World War been exaggerated ?                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                             

	· “increasing strain on the social fabric” – R Hite / 8 mill casualties (1.7mill dead) / huge refugee crisis fuelling 20% increase in the size of Petrograd and Moscow (overcrowding) / X3 increase in the size of the proletariat / Bread queues / growing lawlessness in cities (police reports) growing industrial unrest.    
· Explain why the social impact of the 1WW was more important than the R/T, R/J and Cold War. However, explain why the GPW / Crimean War / Civil War were more significant in the development of Russia.
· Judgement – the dominant theme is that the statement is correct  - the importance of the First World War in developing social matters has been exaggerated.                       

	2.

12 mins
	Economic impact
· Arguments that the 1WW led to more economic change than other wars.

· Comparison with the economic change caused by other wars.

· Judgement  - has the economic importance of the First World War been exaggerated ?                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                             


	· War cost – 38649 mill roubles (est R Hite) / inflation 400% (wages do not keep pace) /creation of a war economy leads to decline in other industries / huge transport problems means food rots in depots whilst people starve in the cities / the 1918 Treaty of Brest Litovsk removed a quarter of Russia’s population and industry, and ninety percent of Russia’ coal mines /mining of the Baltic and Black seas mean stopped 80% of Russia’s overseas trade. Led to Capitalism being replaced by Communist economics – Gold Standard to War Communism !
· Explain why the impact of the 1WW was more significant than the other wars in the economic development of Russia.
· Judgement – the dominant theme is that the statement is incorrect  - the economic importance of the First World War has not been exaggerated. It led to fundamental economic change.                       

	3.

12 mins
	Political impact
· Arguments that the 1WW led to more political change than other wars.

· Comparison with the political change caused by other wars.

· Judgement  - has the political importance of the First World War been exaggerated ?                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                             


	· August 15 decision to take personal responsibility for the war was perhaps N2’s greatest mistake. Now discredited as he was personally blamed for military defeats / at the same time this decision meant Rasputin and the Tsarina held sway in Petrograd / failure of the Kerensky Offensive led to the July Days, the Kornilov Plot and thus the October Revolution that established Bolshevik rule / The Optimist school has the best argument therefore – the First War turned possible revolution in to actual revolution - twice. Context is helpful - it is worth noting that the First World War also led to the collapse of the Kaiserreich, the Dual Monarchy and the Ottoman Empire.
· Explain why the impact of the 1WW was more significant than the other wars in the political development of Russia.
· Judgement – the dominant theme is that the statement is incorrect  - the political importance of the First World War has not been exaggerated. It ended 300 years of Romanov rule and doomed the Provisional Government from the start.                       

	Conclusion
	The statement is, in the main, incorrect.

	· M Karpovich is correct to describe the First World War as “a staggering blow” to Russia. Other wars had a larger social impact – notably the Great Patriotic War. However, the First World War led to huge political and thus economic changes. Above all other Russian wars in the period, it was the “locomotive of change”.


